o

oo

12

20150 10 190
opoooo
kotaro@math.titech.ac.jp

ooooogoo 12

RN

cooboocooobooooooOooOoOoOoOoO0oOoOOoOoOoOOoOOoOoOOoO0ODbObOOb0ObOOOOOon
ooooOooobbooooooooon

gobugoougd

10-3 00 p(u,v) 0000 ~(t) = p(u(t),»(t)) 000 ~() 00000000000000000000

4(t)000000000000004(t) 000000w 000000 (u(t),»(t))000000000

~(t) 0000000000
q(t,s) = p(u(t),v(t)) + su(u(t), v(t))

gddoooooooooooooooouooogoo V(U,U)EI[II:J pUdoboogbobnboo
00 (K =0)

104 0000000000 p(u,v) D0D0 wO00OwODOOODOODOOOO0OO(w,v)DOODOOOOOO

gobooboobobooboooobooboobbooboobbooboobbooboOoo

10-5 00 p(u,0) 0000 ~(t) = p(u(t),v(t)) 000 () 0000000000 4() 00000000

D000D0004() 000000wO000000 (u(t),v(t) 0000000000000 w0000
0000000000000(w,v)00000000000000000000000000 L =0,
N=0,M+#000000000000000000000000000000000000O00O0O0
0oo

1600000 22+ 4> -2 = 1 0000000000000000000(>pwv) =

0o

12-1

(coshucosv,coshusinv,sinhu) 0000 (uvyv) DODDODODDOOO0E = w+ov, n = w— v;
w=tan 'sinhu 0000 &nO0000000)

000 z*+9*+-,4=100000000000000000000000000000O0

12-2 000 z=2>—3? 00000000000000000

20150 10 190



